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09 HALAHIEA S 3,350 1,400 1,950
OHELBALA HOISHM2AIYE A& &HIOHAF B4 3,350
— Al 7,000& x50 13| 350
— WSl 40,000 *50H 13 2,000
—ds 2g= 20,000& x50 13| 1,000
1MIIEBEAS 2,100 2,100 0
oNgss(gsHig) =8 2= 84 A4 2,100
-z 1,000,000 15 & 1,000
-2 = 500,000 1S ™ 500
-& o 300,000& »25 600
307 21201 A 185,500 185,500 0
05 BIZHRI & 3 185,500 185,500 0
OSAEF HII= REX™elb
125,000& 1, 100= 137,500
OMDl BHEXE HZ 22l A
25,000,000& =10 2 25,000
Od=HIIS(BtAIZ2E) el 230,0002 *100& 23,000
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2M: SAEZD
M NG MEBEE X4
Sl MyI 2T U HES (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 25,000 25,000 0
01 A& HI 25,000 25,000 0
OMgJl BHEXE 25 2 2o/ (F, &9,
=) 500,000 *200H 2~ 10,000
OMYDl BHEXE KA 2,500,000 *6H 2 15,000
405 RHoHE S HI 9,000 9,000 0
01 AL EFFHSHI 9,000 9,000 0
OMess 2+ABIBSER)
300,000& *30% 9,000
sEHHE =AHA243 XA 75,000 75,000 0
= 10,697
< 12,569
e 51,734
301 et a = 75,000 75,000 0
= 10,697
< 12,569
s 51,734
NMIIEEd= 75,000 75,000 0
O=HIEx A 75,000
— HHlY =28 X& 100& %750, 000kg 75,000
= 10,697
= 12,569
e 51,734
HIIZ2 HMlAl4 1,405,157 1,288,997 116,160
HII2 XM2AE 22 545,292 602, 163 A 56,871
101 1A Hl 60,700 56,735 3,965
04 JIZtHZ2XNHEE S 60,700 56,735 3,965
OoMgDl & HEES Hd9 60,700
—Jl=s 51,7603 x»4H «200! 41,408
- =54 51,7603 »4H 402 8,282
—x=g 51,7603 »4H +7L 1,450
—-BE=Z4UEE) 51,140,000 »14% 7,160
— 2hAlH| 3,000 »4H 200! 2,400
201 2Bt | 243,100 244,300 ~1,200
01 At 2teltl 167,100 168,300 A 1,200
OHJIZE HMelAlE 22X =l
7,000 x7H %1002 4,900
ONgd =28 € XY S| 2= 81,600
— =40 600,000 x83| «12& 57,600
—goEd 500,000& *43|x12& 24,000
OUEAE g3+ HIAM A2 (HIIS
22l y) 32,800
—&dE=+ 350,000& #4012 x 128 16,800
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2M: SAEZD
HMu: e MBHZ TA
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— XI5t== 250,000& * 1204 2 %43 12,000
- XE= 500, 0003 *x2JH A 43| 4,000
OANBEZ HBAE(0I2,HF) AHZ22SE
A =2(HIIS22Y) 46,800
—&ot=E =2 6,000, 000& «20H 2~ *13] 12,000
—HEgmos =24 1,200,000& *6H 2+ 13 7,200
—&E=+ 350, 000& *20H 2 43 2,800
— Klot== 250, 0003 6K A 43| 6,000
- XE= 500,000 *4JH A *43| 8,000
—ELQAT XA 1,200, 000% *8H 2~ 13l 9,600
—HEAIE JtAEA 300,000& *40H 2+ 13 1,200
OHJIS™elAlE 282 22 100,000& 4L 400
OFBALUPEIAL D=H(HEE S48 S2H)
150,000 »2H 23] 600
02 2324gHl 76,000 76,000 0
OHJIS(HE, MES)AE 223 HA
3,500,000& x12& 42,000
Ost=HII=8gsldl s 2,000,000& =13l 2,000
OAEEH SXUI(0HEY, HESAIL)
500,000& x10&*13] 5,000
ORQolAHl CCTV AHE Uz 15,600
— & HEAA 500,000& »12& 6,000
—JIE HE AL 500,000& »12& 6,000
—d&HJI=2 HEHE 300,000& =122 3,600
OHJIS2ZEMeE H=HI(HHsS )
1,900& #2048 *3=5+1002 11,400
206 M= Hl 70,700 63,900 6,800
01 24l 70,700 63,900 6,800
OMEBSME 222 2 100,008 « 105 «43] 4,000
OMEERE +Z2H8 WEIY 2Y(1E8)
10,000& *5000H 5,000
OHJIS HEAMNE SEM P&
2,000,000& x53| 10,000
OPETS =D 234 £ 2,500,000 *1ton 2,500
OHJISHMelAlE SHAXZ(ASH 14 )
30,000& 200 6,000
OMSAIE M FL(AFHMAE 204 )
60,000& x100& 6,000
O&E4 MAMNE dE2Y(AH,01&) 20,000
—PAC( &H)-DIEME & 450,000 x8& 3,600
— HiBPHCS( 24 &F)-&I FON & 250,000& «20E 5,000
— I8 ACH A 300,000& *12& 3,600
— SStH28 (HA 20 /E) 15,000 120 1,800
— AN3(2Y 20kg/IE) 20,0003 x50 1,000




S SAEZ
Nz IYPAHE MEEH XM
S HIIZS HelAl& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— BHABHE (22 20kg/ i) 20,000¥ *100 & 2,000
—EF:Eg dFHANHE ELE 4,000& *500kg 2,000
— X0 AALIES (M A 20,000 x50= 1,000
OFAADR BSAN ARE 2 (X2, 01A3
s) 1,000 x50 %280 14,000
QHJIIZ HMelAE B3A &3 RA(UXF, &
s) 300,000 43| 1,200
OHJIZXeANYE HosE F¢
500,000 x4 3| 2,000
207 I & 10,000 20,000 A 10,000
NEEEET 10,000 20,000 10,000
OMEHIIS M@t 24 U THAEI 8
20164) 10,000,000 «13] 10,000
401 AlEHIZL 2 0HY| 120,792 117,628 3,164
01 Al&H| 120,000 115,000 5,000
ORI E)HEAE B4
20,000,000& =10 A 20,000
OMEEZ HdEAE Exx(2=)] &)
2,500,000& *2& %23 10,000
OHJIZ2 XelAlE W &l =&
5,000,000& x23| 10,000
O SAMIHEAE =S ZA HEH(
67,250m") 40,000,000 *13] 40,000
Ostd 0|SHE ALY AE2EE EBIYES ZAIR
=) 20,000,000 13| 20,000
QHII2 HM2lAlE BEUHAE WEEdsHI 29
20,000,000& 13| 20,000
03 AlE 201 Y| 792 2,628 N 1,836
OHIIZE XelAlE AFE =& AlZ 20|
110,000,000 *0.72% 792
405 XHAHF S HI 40,000 99,600 A 59,600
01 XAt 2 ZF S| 40,000 99,600 A 59,600
OYEseA Je(HE=Z2E B2 ¢ 0ls5)
5,000,000 =1CH 5,000
OXNHX R(2.58) 35,000,000 = 1CH 35,000
HIIE 22AE 29 859,865 686,834 173,031
101 2121 4| 226,321 201,206 25,115
04 JIZtHIZ22XNSE S 226,321 201,206 25,115
OL2UANE 29 198,286
- Jl=22 55,2803 x6H 250 82,920
FEY 55,280& »62H x50 16,584
— X E 55,280& 6% 15 4,976
— o222
6,910 *6H *80Al 2Fx 122 *50% 19,901




2M: SAEZD
HMu: e MBHZ TA
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EES T EEEN
6,910 6 *50Al 2+ x 123 «150% 37,314
—S2A2ISM HBLY(AAnHEIEd] 2
el)=¢ 100,000& 6 128 7,200
e =R = 40,0003 x6H x128 2,880
— 2+AlH| 3,0003+«6H*10L 128 2,160
—EEZ(4UEE) 173,935,000& * 14% 24,351
OA2AE 29 JIZH22X AZE A
250,000& x6H 1,500
OA2AE 29 JIZH22X EX= 26,535
—24 0ol& 55,2803 x2H 60 6,634
=34 04 55,2803 x4 90! 19,901
201 Let24d] 422,172 287,000 135,172
01 At 2teltl 48,400 63,200 A 14,800
OA2t HIAM HIIZ Mel I =2
200,000& »100& 20,000
o2y it =& /8 =2
500,000& *52== 26,000
OLZAE MRES 72 200,000& =123l 2,400
02 3322l 373,772 223,800 149,972
OQHIIS2 (A HE HES)AE 2223 HA
13,500,000& = 12& 162,000
O&IItHIA =2 700,000 x12& 8,400
Ot @3 (d2u=, MEES 5)
500,000& x12& 6,000
Oad FLBH =2 1,000, 000& *13] 1,000
O22ANE 28 |RFH 1,700,000& »12& 20,400
Oo2ge =2 34 S 1,500, 000& *43| 6,000
O3JIg=I 2NE= 3,000,000& »23| 6,000
OL2ZAIE A& &8l SXHl 1,000,000& 128 12,000
OHYIg Azzels s sAze ==5(
HIIZAN & RAE=) 200,000 122 2,400
O22=z JIAHAH Jtsy ¢
300,000& =63l 1,800
Ox22 JIAHEH |X 225 7Y
1,000, 000& *43| 4,000
O22AAE THOISH 58 +42(IYSF
2 222 JE) 6,000,000& x13l 6,000
OS1Y =d4H ¢EE8E & HHIE 7 (&
Jletdze| X MR DAl 2016.7.28)
1,000, 000& *33| 3,000
OHJIZS A2AIE HELH ESCOMY &Eel=s
== 11,231,000& 128 134,772
202 o4dl 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0




2M: SAEZD
HE: NS MBHY TH
Sl HIIZ MelAld (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBZIZNE(A2E 5) 9= & A8
60,0003 *4H «63] 1,440
206 M= Hl 21,700 29,100 AT,400
01 M= 4l 21,700 29,100 AT,400
O2x2ANE 28 435 ¢ 19,900
— WOy ZEE 2L A4A3 20,0003 +502 1,000
— EAAUSE HHY LA 500,000 12 6,000
— 388 24 1,500& *3,000kg 4,500
—os2s MHNE =22E4E
500,000& 123 6,000
— 2 F2H 50,000& *30= 1,500
—0l2ua=X 3,000& *3004 900
OAZAM HAMEE Y188 SXOtAT, &
A=, 225 2088 5) 300,000 6 1,800
301 et a3z 1,900 1,900 0
09 &AL HIB &S 1,900 1,900 0
OSZANESA HIISA2ZAE HAS FIOIH 2
o 95,000 10 »22 1,900
401 AIEHI L 2 CHYI 186,332 166, 188 20,144
01 A& HI 185,000 165,000 20,000
OA2ANE RA.E= 15,000, 000& 15,000
OA22 SEyH HUE DA (EH)
50,000,000& =13l 50,000
OA22 W8 s WH(RE)
20,000,000& =23l 40,000
OA22 AT (OO E)nM(ER)
30,000,000& =23l 60,000
O222 HUEZEI E==3A
10,000, 000& 13| 10,000
O=&4&Hl & UPSE tHE 2l WX 3At
10,000, 000& 12| 10,000
03 AIE 2 THHI 1,332 1,188 144
OHJIE A2AE ASFE AIERUHY
185,000, 000& *0.72% 1,332
MHRES(SASZ D) 3,552,000 2,050,000 1,502,000
HEHH K= 3,552,000 2,050,000 1,502,000
AN HES 3,552,000 2,050,000 1,502,000
701 JIEtSI HEHES 3,500,000 2,000,000 1,500,000
01 JIEtZIHEES 3,500,000 2,000,000 1,500,000
Ox=ZMNLEEINH BES 3,500,000, 000& 3,500,000
702 JISEEZS 52,000 50,000 2,000
0MNII3EEZ 52,000 50,000 2,000




D SAEE
D HEES(
D UENXE

-

SAEAED)

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OHJIEMAE FBEISXNAINS(MAIISE
oI 2HEHOH 24 2l 10%) 37,000,000& 37,000
O=qZnFEHII=z d&3(=+2, UHE =
g=) 15,000, 000& 15,000
HE2AZH (SAIEA D) 129,712 131,392 A 1,680
Jl=34l 129,712 131,392 21,680
JlE&l 129,712 131,392 A 1,680
201 Let24d] 67,792 67,792 0
01 At 2teltl 67,792 67,792 0
ORAENH 1,831,000& »32H 58,592
O= &l 7,000 x32H »252 5,600
OB =AI LX(AMRA, HIISH2EF)
150,000 »2CH x12& 3,600
202 oddl 57,600 57,600 0
01 = LH o4 1l 57,600 57,600 0
O2tU ol 100,000& »32H »12& 38,400
O&2| K Hl 75,0003 x32 x8 19,200
203 R =&l 4,320 6,000 A 1,680
04 FN2ELSZ=TH| 4,320 6,000 A 1,680
ORAN2EIRFEHI 360,000 128 4,320




